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DOPTED METHOD 


FOR


 ANALYIZING SODIUM HYPO CHLOITE 


(JAVELLE WATER)   








1. THEORITCAL: 


This method depends on releasing Iodine (I) from Potassium Iodide (I K) by the effect of chlorine (Cl): 





            Cl2 + 2I K ( 2Cl K + I2





Then Iodine is tetrated by � EMBED Equation.2  ��� n. solution of Sodium hyposulphite:





            I2 + 2Na2S2O3 ( S4O6Na2 + 2I Na





2. REQUIRED SOLUTIONS:


A.� EMBED Equation.2  ��� n. Sodium hyposulphite solution 


     (Na2S2O3 5H2o).


     This solution corresponds to 69.859 g/L.


B. Pottasium Iodide solution 10%.


C. Acetic acid, ‘concentrated’.


D. Soluble strach solution.


3. WORKING METHOD:


   -Take by sucker 10 cm3 Javelle water (Sodium hypoclorite solution) and dilute up to 500 cm3, using distilled water.


   -From this solution take 50 cm3 and put them into conical flask, and add 20 cm3 Potassium iodide solution, and then add some drops of acetic acid until medium becomes acid. You shall notice that colour of solution becomes clear brown which is the colour of released Iodine.


   -titrate by � EMBED Equation.2  ��� n. sodium hyposulphite solution until brown colour of solution almost disappears, then add some drops of starch solution. The solution becoms blue in colour. Continue titration by hyposulphite solution until the blue colour disappears.





4. CALCULATION:


Presume having consumed X cm3 of Sodium hyposulphite in titration


Each 1000 cm3 of sodium hyposulphite solution corresponds to 35.5 g Active Chlorine.


Each 1000 cm3 of � EMBED Equation.2  ��� n.  Sudium hyposulphite solution corresponds to 10 g Active chlorine.


Then X cm3 of � EMBED Equation.2  ���n.   sodium hyposulphite solution corresponds to Y g Active Chlorine.


Thus    Y = (10 × X)/1000 = X/100 GRAMS


Since this percentage X/100 is found in 50 cm3 of diluted Sodium hypochlorite, or 1 cm3 of basic sodium hypochlorite.


Then in 100 cm3 of basic sodium hypochlorite there is:


             (X/100) × 100 = Y g active chlorine.


i.e. each 1 cm3 sodium hyposulphite solution at � EMBED Equation.2  ���n.   concentration corresponds to 1 g active chlorine.
